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Draw the final B.M.D using the virtual work'method .
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Choice (1):

El=const
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D.S = 3 (internally)
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This choice is symmetrical structure with symmetrical support
conditions with symmetrical loading » shear force are zero at the
centerline .

2 adll $58 O LIl Gage Lag Olaliu YL Jliteg Oo¥ gammtly JBlikeg mu b palicie HLisn! I

04 = [Foldx RO

N0N1L

6 KNM

(Wi
) B
N

. 3

F S&lcading

27

27
18 KN

6 KN/M'

.0 = Gy

N

SRR

@ 0944029692-0991972697

rcaila - apljbl] Sloasll 5,8La)| Sy diiso

y



@ ciwied) 1o solalawl

Mc=18x3 —27 =27

B

EIl
o= () ) D)0 () o] 2=

M M
610=] 9 1dx

AZBIS, Lo Lol dalaidl e agapll JSLT] le Aaskad| A1alall 2 agiall colus (e Yoty
(crlolss Cpitia)

@ 0944029692-0991972697 :caila - iyl Sloasll 3j8lal| ciy duicao

y



@ ciwied)  todi ol 3% [

9,0 = %[(_727) (3)(+1) + o] X2 = E_I4
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010 + fi11X1 + f12%2 = 0
020 + fa1%1 + f22%2 = 0
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& (\,14-31 % “14.31-6(3)(1.5)=12.69
"

12.69
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6.3 5.35
C

14.31+6(3)(1.5)-8.74(4)=6.35
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D.S = 1 (Externally)
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15KN
12KN B , E
5 20 0 am
A 16 L 16 c |
D
LI
| Am | Am | NO
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B 1 E X1=1
-0.625
0625 0 am
A 0.5 -0.5 C L
D
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4m am | N1

Bar | L | N, N, NoN,L | N3L | N;=Ny+ Nyxq
AB |5 |-5 |-0.625 |[15.625 |1.953 |11.995

BE |4 |0 -1 0 4 -11.193

EC |3 |0 0 0 0 0

CD |4 |16 |-05 -32 1 10.404

DA |4 |16 |[-05 -32 1 10.404

DB {3 |0 0 0 0 0

BC |5 |-20 |0.625 |-62.5 1 -13.004

Z — ~110.875 z — 9.905
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NoN;L _ —110.875
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fin = EA ~ EA
—110.875 9.905
610 +f11x1 =0 > +

EA Ea
> x; = 11193 KN
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